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an equilateral triangle
has 3 lines of symmetry

d 5uare
has 4 lines of symmetry

a regular pentagon
has 5 lines of symmetry

a regular hexagon
has 6 lines of symmetry

a regular octagon
has 8 lines of symmetry
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AREA

Surface Area of a Square

<« 6m —

A Area = Length x Height
ém Area= 6 x 6
Area = 36m?

Surface Area of a Rectangle

«~— 8m —>

A Area = Length x Height
&m Area= 8 x 6
! Area = 48m?

Surface Area of a Triangle

Area = )2 x Length x Height
6m
Area= 05x6x6
v
PR —— Area = 18m?

Area of Trapezium

The area of a Trapezium equals half the sum of
the parallel sides, times the height between them.

A =12(a+b) xh|

a=2cm

A="72(a+b)xh
A="72(2+10)x6
DTt = 0 A = 36 cm?

b=10cm

¥mage Source: Passy’s Warld of Mathematics
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Hey diddle diddle the Median’s
the middle

You add then divide for the Mean

The Mode is the one you see the most

And the Range is the difference between
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Multiples

A multiple is a number which
can be divided by another
number without a remainder.

For example: 32+4=8 32+8:=4

Factors

A factor is a number that will
divide into another number
without a remainder.

For example: 32+-4=8 32:8:=4
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What is @
prime number?

A prime number is a whole number
which can only be divided by itself
and 1. A prime number must have
exactly two factors.

TRIANGULAR NUMBERS
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